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, 100kN/m%E#B25| 100 000~ 111 11668|3mEBAD| - ~ - - - 100kN/M%E#BZ25| 100| 11.39 ~ 1596 116.68|3mEBZB| - ~ - - -
FhLs Loo| 111~ 889 10000 FNUS | ooo~ 889 218 11.02 ZFh st 100l 500~ 1139 100.00] TS | 500~ 1596 218 11.02
B 100kN/m%E#B25| 100 000~ 267 142.05|3mERBASD| - ~ - - - 100kN/M%E#8Z2 5| 100| 11.01~ 3000 142.06|3mEBZB| - ~ - - -
Fhs 100\ 267~ 1046 10000 FNUS | ooo~ 1046 296 14.95 ZFh st 100\ 500~ 1101 100.00) TS | 500~ 3000 296 14.95
5 100kN/m%E#B25| 100 000~ 211 132.63|3mEBAD| - ~ - - - 100kN/M%E#82 5| 100| 1181~ 2807 13263|3mEBZB| - ~ - - -
Thilst Loo| 211~ 989 100.00] TN | coo~ 989 27 1393 Thist 100| 500~ 1181 100.00| TS | 500~ 2807 276 13.93
s 100kN/m%#%%| 1oo| ooo~ 153 123.28|3mEBZB| - ~ - - - 100kN/m%EBZ5| 100| 11.83~ 2019 12328|3mEFRERB| - ~ - - -
Thilst Loo| 153~ 931 10000 FNAS | 000~ 931 245 12.37 Thst 100l 500~ 1183 10000 TS | 500~ 2019 245 12.37
5 100kN/m%#%%| 1oo| ooo~ 158 12420\ 3mEBZB| - ~ - - - 100kN/m#E#BZ5| 100| 11.96 ~ 2131 12420\ 3mEBZB| - ~ - - -
Thilst 1oo| 158~ 937 10000 TNLS | 000~ 937 244 12.31 Thst 1.00| 500~ 11.96 10000 FRUS | 500~ 2131 244 12.31
5 100kN/m#E#z25| 100| 000~ 257 13707|3mEBZZ| - ~ - - - 100kN/m%E#%%| L0o| 11.32 ~ 2817 137.07|3mE @R A - ~ - - -
Thilst 100\ 237~ 1016 10000 TN | 000~ 1016 281 14.19 Thist 100 500~ 11.32 100.00] TN | 500~ 2817 281 14.19
; 100kN/m%#%%| 1oo| ooo~ 256 14023\ 3mERBAD| - ~ - - - 100kN/m%E#%%| 100| 1087 ~ 2609 140.23|3mEBAS| - ~ - - -
Thilst 1o0| 256~ 1035 10000 TS | 000~ 1035 288 1457 Thist 1.00| 500~ 1087 10000 FHUS | 500~ 2609 288 1457
100kN/mM%#22 % ~ 3mEERD ~ 100kN/m%#2 % % ~ 3ImEHEZ S ~
zh st ~ Zhilst ~ Zhilst ~ zh st ~
100kN/mM% #2825 ~ 3mEERD ~ 100kN/m%#2 % % ~ 3ImEHEZ S ~
zh st ~ Zhilst ~ Zhilst ~ zh st ~
100kN/mM%#22 % ~ 3mEERD ~ 100kN/m%#2 % % ~ 3ImEHEZ S ~
zh st ~ Zhilst ~ Zhilst ~ zh st ~
100kN/mM% #2825 ~ 3mEERD ~ 100kN/m%#2 % % ~ 3ImEHEZ S ~
zh st ~ Zhilst ~ Zhilst ~ zh st ~
100kN/mM%#22 % ~ 3mEERD ~ 100kN/m%#2 % % ~ 3ImEHEZ S ~
Thilst ~ ZThist ~ Thist ~ Thilst ~
100kN/m#% #2825 ~ ImEHEAD ~ 100kN/ Mm% 2% ~ 3mZEHEZS ~
Thilst ~ ZThist ~ Thist ~ Thilst ~
100kN/m#% #2825 ~ ImEHEAD ~ 100kN/mi##8 2% ~ 3mZEHEZS ~
Thilst ~ Thist ~ Thist ~ Thilst ~
100kN/m#% #2825 ~ ImEHEAD ~ 100kN/ Mm% 2% ~ 3mZEHEZS ~
Thilst ~ ZThst ~ ZThist ~ Thilst ~
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